Bt 5% / How to fix

EUFTE R / Screw

<4 —3, / Mounting plate

g

HU{tE R / Screw F+wkL—JL / Groove for slide nut

WRFYERUVFVEHRILE —
Nut & Nut holder

EE %€ E / Mounting bracket

HERAZ / Components

No. 2 / Part name M= / Pcs #'E / Material - RmUE / Color+Finish
1 r— 1 7 ILZHR A1050P t=2.0 ALIR
Mounting plate Aluminium A1050P t=2.0 Unfinished
2 BEEER 6 #f#k SECC t=1.6 Jra—p2t
Mounting bracket Steel SECC t=1.6 Zinc coated
3 Wk 6 $l#R SPCC t=1.6 =ffoRA—+
M3 nut Steel SPCC t=1.6 Trivalent chromate
4 FubRILE — 6 POM I3vY
Nut holder Black
5 HR{FHE R(M3 x 6 ) 12 &% =fEoni—+
Screw (M3 - 6 Pan head) Steel Trivalent chromate

24

B7-=hJ)LT—24 / Technical Datall
¥4 —X / Suitable : FC[1-40-30

FCW[-30-40, [1-40-30
FCH[I-40-30

KFCA—XIZIFERANEITERE A,

Not suitable for FC4 (H=37.9mm)

BRASMINTFEHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fna/Title

FC+FCW-FCHE R v—
MOUNTING PLATE for FC,FCW,FCH

o]

AFR/Approved | #%[E/Checked | H[E/Created | Z!F/Product number RS
FCC40-30-2

iR = w1 1/ 3
fERB/Date  2020/01/07




> 4—</ / Mounting plate

A#~Ti% / Max dim.

EE %€ E / Mounting bracket

354 2 1545 1545
6-@5
O O O o O (]
< ()] (o))
o ™ N
N N N
o] O O o O (o]
169.5 169.5 4-R2
339
4 /Title
TAKACHI) #X&ttahFERTE FC+FOW-FCHERS v— @ |:]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. MOUNTING PLATE for FC,FCW,FCH
& 8/ Approved & X]/Checked #IX]/Created B F /Product number RIE/Scale
FCC40-30-2 13
iR s w1l ) ) 3
YEREB/Date  2020/01/07




M3

1.5

1.6

315
]
o)
-
22 4.5
27

22

/ Mounting bracket

118 | 1.6

1.6

15

7.5

1 O [

17

@4

2-R1

FwkARJLA — / Nut holder

6.5

10

BCo

3.6

o L

RF vk / M3 nut

M3

1.6

 m——

BRASMINTFEHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fna/Title
FC-FCW-FCHE AL v—
MOUNTING PLATE for FC,FCW,FCH

o]

7 &2 /Approved

iR

1% [Xl/Checked

e

#IX/Created

il

FIE /Product number

FCC40-30-2

RE/Scale
1:1

YERZ B /Date 2020/01/07

3/ 3




